asym_atll

asym_atrl

asym_atl2

asym_atr2

rund8030 000 r

10000 — 10000 — - u
I —|30 [ —30(
S000 —25( Lo00 — —25(
: 201 : 200
or o
N 15( R 1E(
-o000 — 10( -o000 — 100
i 50 [ 50
10000 — 10000 — [ |
_|||||||||||||||||||||||||||||||| D _||||||||||||||||||||||||||||||||||| ﬂ
=80 =80 =40 =20 o 20 &0 G0 A0 =30 =20 =10 o 10 20 a0
diff_bpmXum diff_bpmdaYium
diff di
| I | I
B B — 300
10000 — — 300 10000
| [ —25(
™ —25[ B
5000 — 5000 —
- S0t - 20(
or o
L .
_ 15( [ 15(
5000 — 5000 —
Z 10( Z 10€
. . m
10000 ~ - 10000 — 50
- N - n
1EDDD_|IIIIIIIIIII|III|III|III|III|III D 15DDD_II|IIII|IIII|IIII|||||||||||||||||| ﬂ
=80 60 40 =20 ] 20 40 G0 A =30 =20 =10 ] 10 20 ah
difi _bpm1Xum difi_bpmda¥ium
d. diff
K B — —3&(
40000 :— =nr 40000 :—
30000 30000 | s
20000 | 20000 —{as(
10000 :— 10000 :— 200
of o
B B 15
10000 | 200 10000
- - 100
20000 20000
K 10C [
30000 30000 30
- N u N [ | [ |
l1_{:”:”:”:]'|||||||||||||||||||||||||||||||| o 4p00n Lt plv v bvv s by vra bvv s b v ra b aalag 0
B0 80 40 =20 1] 20 40 B0 B =30 =20 =10 1] 10 20 an
diff_bpm1Xum diff_bpmdaYium
diff _ diff bpm4aY
I
™ —{ &0 B I ]
™ B 300
40000 — 40000 —
= _EH}E =
i i 25(
20000 — S0000 —
™ B 200
or o
i [ 15
20000 — 20000 —
200
B B 100
40000 |- 100 40000 |-
(= B I
EI'DDDD | 11 1 I 1 11 I 1 11 | 1 | 1 11 | 1 11 | 11 1 | 111 E‘DDDU 11 | 1111 | 1 111 | 1 111 | 1 111 | 1 11

egression -asym at VS

80 -60 40 -20 40 60 B0

Dm'

10000 - 10000 - —
I —{a0c [ —30(
5000 |- —|o5c 5000 |- e
- 200 1 20(
o o
N 151 s 15[
I [ =
-5000 = 100 ~5000 = 100
: 50 : - ] 50
10000 — 10000 [ ]
ol b b b b b ool 0 ol b b b b Lo by 0
=80 =60 =40 =20 (1] 20 A0 a0 a0 =30 =20 =10 (1] 10 20 an
difi_bpmaaX/um difi_bpmaaY/um
difL d.
i — —as( -
10000 — —apr 10000 — — 300
B | B — 25
5000 25l 5000 |-
B 200 i 200
o o
| = i
i 15( i 15(
R | B
5000 5000
u 100 = 100
10000 — 10000 —
= B0 - 50
i N i n
1EDDD_IIIII|III|IIIIIII|III|III|III|III| ﬂ 1EDDD_||||||||||||||||||||||||||||||||| D
80 -0 40 =20 (1] 20 A el a0 =30 20 =10 (1] 10 20 a0
difi _bpmdeXsum diff _bpmdeium
diff _ diff _ hpmélcY
40000 | 40000 | gy 35t
N —{500 N
o000 30000 |- 30t
20000 :— —anr 20000 :— —ogs
10000 10000
. . 200
0 o
B N 15(
10000 = 00 10000 =
B B 100
20000 |- 20000 -
E 10C E
30000 | 30000 |- 50
- W [ | B [
MDDD_I"'l"'l"'l"'l"'l"'l"'l"'l 0 11{:”:“:":"|||||||||||||||||||||||||||||||| o
80 -0 40 =20 (1] 20 40 e a0 =30 20 =10 (1] 10 20 a0
difi_bpmaeX/um difi_hpmaaY/um
diff diff_bpmdeY
I
i i [ | [ ]
i —60t i — a0
40000 — 40000 —
I o I —{25¢
20000 — 20000 —
i i 200
o o
B B 16
20000 — 20000 —
= 200 = 100
40000 _— 100 40000 _— 50
E‘DDDU | I 1 11 | 11 i

80 -60

COLZ postpan.png—"

5000 —

=5000

10000 —

11 | 1111 I 1 111 | 1 111 | 1 111 | 1 111 | 1111 | 11 ﬂ
~150 -100 -50 O 50 100 150
diff_bpm12X/um

:
:

—35(

2000 —25(

~5000

10000

=
IIIIIIIII|IIII|IIII|IIII|III

v by by by b Loy g L
15000 =180 =100 =50 0 50 100 150 o

diff_bpm1 2X/um

diff

40000

—100

'-.

30000

20000

10000

600

10000
20000

30000
H N
40000 plvvre bvvvar bvrrr brvra br v tvv o b

150 -100 =50 0 50 100 150
diff_bpm12X/um

diff_bpm12X

- —12(
40000 —

B —10(
20000

- — {80

D —

20000 -
40000

i ]
EﬂnnnII|IIIIIIIIIlIIII|IIII|IIII|IIII|II

-150 -100 =50 1] 50 100 150
diff_bpm12X/um



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

run8030 000 regression-reg

I p—

10000 |- = 0

I n

R s
5000 -

| —|20(

ol 15¢

. n

- 100
_5000

| 50

il | : Lo bl il
1'DDDD L1 L 11 L 11 L1 L 11 L1 1 L1 L 11 D

=80 =60 =40 =20 0 20 40 60 80
diff_bpmXum

— 5[

10000
— 300
BO00 —125(

200

15(

=5000
100

50
10000 -
b b b b b b L 0
80 -B0 40 <20 (1] 20 40 B0 a0
difi _bpm1Xum
difL
— —{3&(
10000 —
B [ | .I.
: — 300
5000 |- e
- 200
oL
i 15¢
5000 10C
L 1 .. 50
10000 . .
Lova b vv o bvvn bwvn v v bvra bwra baa o

-80 -60 40 =20 0 20 40 60 B8O
diff_bpm1Xum

B I
B [ |
10000 —{a0
[ u m —{a5(
5000 - g
- 20
.
ﬂ —
- 15(
B [ |
5000 |-
- 10(
10000 |- 50
i 111 I 1 1 1 I 1 11 | 1 | 1 11 | 1 1 1 | 111 | 1 1 1

40 60 80

10000 |-
- —{30(
£000 i —{25(
] 20(
e 15(
a 10
5000 [~
- 50
10000 _I 1 | 1 111 | 1111 | 1111 | 1111 | L 111 | 1111 | 11 0

30 -20 -10 0 10 20 30
diff_bpmda¥ium

—30C
10000 —
: —25(
B000
B — 200
ol 15(
B 100
<5000 —
] 50
N . Lol b M
1'DDDD | L1 1 L1 L1 1 L1 1 L1 L1 1 L1 1 L1 ﬂ

80 -60 -40 -20 O 20 40 60 B0
diff _bpmdeX/um

10000 — — a0
| —{a5(

5000
I — 200
o 15(
I 100

~5000 [~
I 50

1'|}DUU i | | 1111 | 11 11 | 1 111 | 1 11 1 | 11 11 | 1111 | | {F

30 -20 10 0 10 20 30
diff_bom4eY/um

diff_bpmdeY

I — — 35
10000 — 10000 — 300 10000 —
ot . —30¢
= —25( 5
5000 —2st 5000 5000 [ —25¢
- 20( 200 i 200
o (1] o 1
| = 15( 15 s 15(
~5000 - . ~5000 100 ~5000 | ot
! 50 50 - 50
10000 i - . - 10000 - 10000 i EE . -
NN N T T TN Y 0 RN TN T T T e e 0 ol b b b b Lo b 0
=30 20 =10 (1] 10 20 a0 80 -0 40 =20 (1] 20 A el a0 =30 20 =10 (1] 10 20 a0
difi_bpmda¥ium difi _bpmdeXsum diff _bpmdeium
10000 |- 10000 | 10000 | —35t
i i n E == i
B apr B —30C R
| | B — 300
B000 — B000 —125( B000 —
i 25 I | —25(
i A | | n
B B 200 B
i 200 i i 300
o o ¥ o
i 15 i 18¢ . 150
_5000 100 _5000 10 5000 |- 100
B B 50 B
i .. .. 0 i | .. | 1 .. 0
10000 |- " = 10000 |- " . 10000 |- . =
b lvvrr brvra b v brrra v by b 0 plovr bvvr v bvrr v v bvra bl 0 plvvrr tvvvr b rrr bvvr s bvv v b e I o
=30 20 =10 1] 10 20 an 80 -0 40 =20 (1] 20 40 e a0 =30 20 =10 (1] 10 20 a0
difi_bom4aYium diff_bpmdeX/um difi_bpmdaYium
— —350 — —
i m i m - m
10000 — 10000 — 10000 —
N —an B —30C = — 300
[ N [ -
- = - m m _ - = =
5000 —2st 5000 m 25t 5000 2
R [ | R B
| 20( = 200 | 20(
o o o
| 15( i 15( i 15(
5000 5000 — 5000
: 106 : 10C : 10
10000 — 10000 — B0 10000 50
| nm | | -
vl bl by i _||||||||||||||||||||||||||||||||| o

“bpm-CO Z'*“*'ﬁi%stpan

-2 =10

png st e

10000 — ..- —{30C
B —25(
5000 _— -
| —200
ok [ |
B [ |
=5000
I -
1"}':“:'“ 11 | 1111 I.l 1 11 | 1 111 | 1 111 | 1 111 | 1111 | 11 ﬂ

~150 -100 -50 O 50 100 150
diff_bpm12X/um

—25(

5000

~5000

10000 50
[ |
ol b b L L 0
=160 =100 -850 (1] B0 100 180
diff_bpm12X¥/um
10000 —
- —30(
5000 — 25t
D_
~R000 —
10000 —
b lvvre brv v b rrr brrra v bvv i b 0
=160 =100 -850 1] 50 100 180
difi_bom12X/um
diff bpm12X
B L
R |
B u —25I
5000 [ =
| =
B [ |
D_
. W
[ m
K000 —
10000 — L)
i 0 .l-
el bvvea v bvv e berva bvr o b 0

-150 -100 =50 1] 50 100 150
diff_bpm12X/um



asym_atll

asym_atrl

asym_atl2

asym_atr2

rund8030 000 reg

diff bpm1X

%2/ ndf 34 /39
t
p0 -13.95 + 12,57 IIAI -
p1 34.39 + 0.82 } I I
1O I h
: 1 I
oF |
000 - } HH
2000 f— hII
~3000 —
-mnnf— B )
:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
=80 =60 =40 =20 (1] 20 40 &0 ab

diff_bpm1X

¥< | ndf 41.69/ 39
p0 1169+ 15.82
p1 40.38 £ 1.03 I
2000 |- I
E{:IDDf— +IIHII‘{
- il
II:I_— I
- - I Jq}tr*
-2000 |- IIII
-mnn:—
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
80 -60 -40 -20 O 20 40 &0 B8O

diff_bpm1X

%2 / ndf 34.62 / 39
p0  -42.33 +28.92 IIIIII_
il
p1 405 £ 1.9 3
of
10000 |
B e
ST
20000 — {I
B t
S
30000 |
_I|_||I|||I|||I|||I|||I|||I|||I|||I
-0 680 40 =20 1] 20 40 B0 Bl

diff_bpm1X

%2 / ndf 17.95 / 39
p0  -59.82 + 36.04 +II[H -
+++I+ -
p1 675.6 + 2.4 i
ol
EI}DDU_—
| +++
40000 *LI’I}
_II-IIIIIIIIIIIII IIIIIIIIIIIIIIIII

60 -40 -20 @p 40 60 80

%

4000

3000

2000

1000

=1000

=2000

=3000

4000 IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—_

| IIIIIIWWWII

bpm4aY

%2/ ndf 33.76 / 35

p0 -19.54 £ 12.97

p1 -6.436 £ 1.971

| I

=30 =20 =10 1] 10 20

diff_bpmdaY

%2/ ndf
p0

p1

47.64 /39

§.812 £ 16.265

5.882 £ 2.464

=2000

=4000

~6000

~HO00 IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

IIIIIIIIIIIIIIIIII
—_—

]

e

[

30

|

=30 =20 =10 1] 10 20

diff_bpmdaY

2/ ndf 35.49 / 35

p0 -67.57 + 46.37

pl 159.2 £ 7.1

— ) II }
o IIIIIIM
10000 i— '{ B I
15000 -
20000 E— I

30

=30 =20 =10 1] 10 20

diff_bpmdaY -

%2 / ndf 39.54 / 39
p0 -93.72 £ 70.70
p1 221.9 £+ 10.8
i
0 o
}I I{#M
10000 HII

20000

30000

—

|

30

oression asvm at vs diff b

diff_bpmdeX

%2 / ndf 34.76 /39
p0 -15.56 + 12.59
p1 31.78 £ 0.76 I I
R W I
ok II
~2000 HII
4000 _— - I
_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
=80 =60 =40 =20 0 20 40 B0 a0

dlthpmggL

¥2 [ ndf 57.48 /39

p0 1413 £ 15.75

p1 40.62 £ 0.96 i

mnn:—

2000 [ III}
ﬂ:— }
R | A TR

2000 ~ HII{I*I‘I t '

_4p00
_||I|||I|||I|||I|IIIIIIIIIlIIIIIIlII
B0 -60 -40 -20 0 20 40 60 80

diff_bpmdeX

%2 / ndf 35.73/ 3% M.I
p0  -28.68 + 26.52 #II,[I I
p1 3905 £1.6
of
10000
: i
EI}DDD_— II.II-IIII-
= o
30000 |-
T NI RN AT RN AR AN EE
B0 60 =40 =20 1] 20 40 B0 8O

dlthpméﬁL

%

3000

2000

—_—

1000

= 1000

= 2000

=3000

—_—

bpmdeY

%2 / ndf 31.01 /40

p0  -21.18 +12.96
i { { Pl -3.343 + 2.069
E——»T

I

-30

-20 =10 0 10 20 30

diff_bpmdeY

¥= | ndf 23.79/40
p0 12.04 £ 16.24
p1 13.47 £ 2.59 I
i ]l W[I
T oy
_EI}DD__I-
~4000 [
~6000 [
_BDDD__I|_|||I||||I||||I||||I||||I||||I|
a0 20 -0 D 0 20 30

diff_bpmdeY

%2 / ndf 32.91 /40
p0 -58.33 + 46.06 |I
p1 2179 £+ 7.4 i
: wQ/,ﬁ-'*""’*IIHIIIIIIIII+
o
—EI}DDE— IHJIIIIIIIIII I
‘II}DUUE— '1'_| I
‘IEDUU;— -
EI}DUU;—
25[][]{]:—| ||||I||||I||||I||||I||||I||||I|

I
-30

diff_bpmdeY

=20 =10 0 10 20 30

%%/ ndf 31.04 / 39 2/ ndf 36.84 / 40 {
p0 -41.73 + 31.97 I p0 -84.03 £ 70.28 _
ff 1
p1 644.3 £+ 1.9 p1 309 +£11.3 I
: : il
T °F I MI II
20000 10000 [ |
[ & - H I
n t o
oo - - -IJIIII 20000 :
_IIII :H}DDI:I__II-IIIIIIIIIIIIIIIIIIIIIIIIIIIIII
R0 20 -10 0 10 20 30

DI~

-fit postpan.

pnge

diff _

26.36 / 38

—-12.8x12.7

-14.26 £ 0.38

6000~ - T 2 / naf
WUU:— - Ij{]
i I p1
2000 - IIIIIII
- thy
or
—EI}UU:—
—JH}UU:—
:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

150 -100 <50 1] 50 100 150

diff_bpm12X

10000 - 2 / ndf

8000

p0

6000

38.25/ 38

20.08 £ 15.25

—-28.35 £ 0.46

p1
4000 I

2000

=2000

=4000

LT T 1T T T 1T 1T T 17T 1T T T T T1T T 1T 1T 1T T 17 17T T T 1T T 1T T1TT1T 7 11T 17T 771
I I I I I I I I I

= 6000

+I|}+H

I

=180 <100 =50 1] 50 100 150

_ ¥2 / ndf 40.57 / 38
R PO -18.64 +14.70
- .H-I-_':"
i K o1 2234 + 0.4
10000
oF
10000 [~
Eﬂnnnf— t‘;ﬂ
N *III-HI'
30000 +-
:l|I||||I||||I||||I||||I||||I||||I|||

=180 100 =50 1] 50 100 150

diff_bpm12X

[ - %2/ ndf 36.41/ 38
B *#r
40008 I I'hk p0 _25.86 + 16.28
20000 - p1 -349.3 £ 0.5
ol
20000 -—
40000 — H’h
i W,
_I IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII-III

=150 =100  -50 1] 50 100 150




diff bpm1X

w2 / ndf 34.08 /39
po -14.93 + 12.56
p1 0.4916 + 0.8187

reg_asym_atll

=1000

=2000

t

IIIIIIIIIIIIIIIII
1
t
I
t
—_—

-80 -60 -40 <20 1] 20 40 60 a0

diff_bpm1X

¥2 / ndf 4217 /39
po 18.43 = 14.86 _
p1 0.6849 = 0.9712
reg_asym_atrl | } {
n%— Jﬁﬁw%%ﬁﬁ%ﬁm _

-80 -60 40 <20 1] 20 40 60 a0

diff_ bpm1X

ﬂmg “B“Tai”F“m? | }'
reg_asym_atl2 W ””w} }‘-_

diff

reg_asym_atr2 n

4000

run8030 000 regression reg

-80 -80 -40 -20 1] 20 40 60 a0

_bpmlX

%2/ ndf

25.98 /39
p0 -8.757 £ 15.010

p1 -1.192 £ 0.981

'H I{H‘

} Cnanait ;

| |

—_

80  -60 -40 20 1] 40 60 a0

%

4000

3000

2000

1000

=1000

=2000

=3000

°1

6000

4000

2000

=2000

=4000

~6000

bpm4aY

%2 [ ndf 34.54 7 39
p0 -16.96 = 12.58
p1 -0.9611x1.9152

1
—_—
—_—
1
|

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
_ ——
1
-
4
=
_, :
e
— |

|

-Eﬂ =20 =10 1] 10 20 30

iff bpmdaY

7=/ ndf 30.85 739
p0 17.36 £ 14.91
p1 —0.6358 £ 2.2518

It W s 4 Wn _

| _
|

—_—

=30 =20 =10 1] 10 20 30

diff_bpmdaY

%%/ ndf 39.16 /39

p0  -9.287 + 12.059

p1 1.143 £ 1.838 {

1000 — ‘ |

b i

~1000 E— { 1
~2000 E— } } -
3000 |-

91.

6000

4000

2000

=2000

=4000

=30 =20 =10 1] 10 20 30

iff bpmdaY

x= [ ndf 37.82 /39
- p0 —-6.793 £ 15.062
p —0.3066 = 2.2960

WWMWM H

|| }

LI I LI I LI I LI I LI I LI I T
—_—
I

diff_bpmdeX

%2 [ ndf 35.78 / 39
p0 -17.2 + 126
p1 0.5564 + 0.7617
T +
|-
o ’H T
000 F [
2000

-80 -60 -40 20 O 20 40 60  BO

diff_bpmdeX _

¥2 [ ndf 61.97 /39
p0 18.08 + 14.89
p1 0.409 £+ 0.906
2000 | } -
! y |
o {lﬁﬂ#ﬁw H
_2000 |
:||||||||||||||||||I|||I||||||||||||

1000

=1000

=2000

=3000

°-.

6000

4000

2000

=2000

at' vs diff ‘bpm

-80 -60 -40 20 O 200 40 60 8O

=
|

43.25/ 39

p0 —0.5751 + 12.0562

p1 -0.001971 + 0.736992

l” - dﬂm

-80 -60 -40 -20 O 20 40 60  BO

iff bpmdeX

%2/ ndf

34.19 /39
pO -9.333 £ 15.045

p1 -1.036 £ 0.916

_ﬁ_%i_

{1

T T I T T T I T T T I T T T I T T T I T
—_—

%

2000

1000

=1000

= 2000

=3000

-T——

1=/ ndf

p0

—_

bpmdeY

27.86 /40

-18.96 £ 12.57

—0.3585 £ 2.0107

| wwﬁﬁmﬁ*ﬁ*:;@#ﬂu |-

L
-30

s

G000

4000

2000

= 2000

=4000

= 6000

diff_bpmdeY

-+

20 =10 0 0 20 30
¥2 / ndf 19.51/40
p0 18.59 £ 14.90
p1 —0.879 = 2.371

a—

|

=30

=20 =10 0 10

20

30

%2 / ndf 57.66 /40
p0  -7.729 + 12.045 }
p1 0.622 + 1.933 1]
I | |
: by "
T -MHH” + *m |
~1000 |- H w
= 2000 }' |_
3000 :1|| AN I N I A T N I A A O A Y
=30 =2 =10 1] 10 20 a0
oo - %2/ ndf 26.02 / 40
ol p0 797 £15.06
[ p1 -1.667 + 2.422
2000 r' | | |
ol T \J W+Wﬁ%@wmu |
= 2000 :' }
~4000 _ | )

”fu"i “postpan.png

-2 =10 0 10

20

30

%

4000

3000

2000

1000

=1000

=2000

=3000

=4000

6000

4000

2000

=2000

~4000

bpm12X

¥ ! ndf

2754738

pO -14.33 £ 12.57

p1 —0.04856 + 0.37770

| i“ — M

w_

150 -100 <50 1] 50 100 150

) %2 | ndf 37.56/ 38
_ p0 227+ 14.9
p1 —0.2475 + 0.4500

“{MWAHHM

=180 <100 =50 1] 50 100 150

diff_bpm12X

%2 [ ndf 32.61/38
po -2.632 = 12.057
p1 0.1143 = 0.3683 }
1000 ;— ’
oF #mﬁh%mwmﬁﬁﬁﬁﬁmﬁmqk--
ool * H *}‘
= 2000 ;— |
~3000 f—
-

=180 100 =50 1] 50 100 150

diff_bpm12X

%2 [ ndf 36.18/38

po -6.817 + 15.031

p1 0.4233 * 0.4569

2000 f— ‘ }
1000 H * [

§ st
1000 ;— Hl |
= 2000 ;— |
-:u}nnf— ,
L

=150 =100  -50 1] 50 100 150



asym_atll

asym_atrl

asym_atl2

asym_atr2

rund8030 000 r

it

10000

5000

=5000 —

10000 —

-80 -60 -40 <20 1] 20 40 60 80

diff_bpmXum

10000 IRy

5000 —

5000 —

10000 —

15000|III|III|III|III|III|III|III|III

-80 -60 40 -20 1] 20 40 60 a0

difi _bpm1Xum

10000

5000

=5000

10000

10000

2000

5000

10000

15000

30 -20 -10 0 10 20 30
diff_bpmda¥ium

=30 =20 =10 1] 10 20 a0
diff_bpmda/um

iff bpmlX iff
40000 | 40000
30000 | 30000
20000 20000
10000 10000
o o
10000 | 10000
20000 20000
30000 - 30000 -
:|||||||||||||||||||||||||||||||| :|||||||||||||||||||||||||||||||||||
40000 50~ 80 40 20 © 20 40 60 80 40000 =T a0 -~ 0 10 20 30
diff_bpm1Xum diff_bpmdaYium
. .
I I
40000 40000
20000 20000
o o
20000 20000
40000 | - E 40000 -
E-'DDDD _l 11 1 I 1 1 1 I 1 11 | 1 | 1 11 | 1 1 1 | 11 1 | 1 1 1 -

-80 -60 -40 20 1] 2 40 60 80

eoression-asym at vs diff b

60000

ifL ifL
10000 10000 |-
5000 5000
o+ o
~5000 ~5000
10000 10000 |-
_IIIII|III|III|III|III|III|III|III| _IlIIII|IIII|IIII|IIII|IIII|IIII|I
80 -60 -40 -20 © 20 40 60 B0 30 -20 10 0 10 20 30
difi_bpmdeX/um difi_bpmdeYium
. .
| I | I
10000 : 10000 |-
5000 5000
ol } ol
5000 ~5000
10000 |- 5 10000 |-
_IIIII|III|III|III|III|III|III|III| _IlIIII|IIII|IIII|IIII|IIII|IIII|I
15000 —%n~ 80 40 20 0 20 40 60 80 15000 =5~ 20 -1 0 10 20 30
diff_bpmdaX/um difi_bpmdaYium
] iff _bpmdeY
40000 | 40000 |
30000 30000 .
20000 20000
10000 10000
of of
10000 | 10000
20000 20000
30000 : 30000
:H}Dljl:l:'"'l"'l"'l"'l"'l"'l"'l"'l 11{:”:“:":]:|||||||||||||||||||||||||||||||||
B0 -60 -40 -20 © 20 40 60 B0 30 -20 10 0 10 20 30
difi_bpmdeX/um difi_bpmdaYium
. .
I I
40000 40000
20000 20000
o+ o
20000 20000
40000 _ 40000
EDDDU_Illllllllllllllll|III|III|III|III| Eﬂnnn_lllllllllllllIII|IIII|IIII|IIII|I

m-=sca

-80 -60 -40 20 O

t ‘postpan.png

-20) =10 0 10 20 30
diff_bpmdaey/um

10000

5000

=5000

10000

10000

2000

~5000

10000

15000

~150 -100 -50 O 50 100 150
diff_bpm12X/um

-180  -100  -50 1] 50 100 150
diff_bpm1 2X/um

iff bpm12X

40000

30000

20000

10000

10000

20000

30000

40000

40000

20000

20000

40000

60000

~180 -100 -50 O 50 100 150
diff_bpm12X/um

-150 -100 =50 1] 50 100 150
diff_bpm12X/um



reg_asym_atll

reg_asym_atrl

reg_asym_atl2

reg_asym_atr2

run8030 000 regsression-reg

iff bpmlX

10000

5000

=5000

10000

=80 =60 =40 =20 0 20 40 60 80
diff_bpmXum

10000

5000

=5000

10000

10000

5000

=5000

10000

10000

5000

=5000

10000

40 &0 BO
difi _bpm1Xum

-80 -60 40 =20 0 20 40 60 B8O
diff_bpm1Xum

40 60 80

10000

2000 —

5000 —

10000 Y
diff_bpmda¥ium

10000 —

5000

5000 —

10000 e

diff_bpmda/um

10000 —

5000

=5000 —

10000

diff_bpmda¥ium

10000 — L

5000

5000 —

10000

at”

10000

2000 —

=5000 —

10000

10000

5000

~5000

10000

10000

5000

~5000

10000

10000

5000

~5000

10000

-scat

80 -60 -40 -20 O 20 40 60 B0
diff _bpmdeX/um

-80 -60 -40 =20 O 20 40 60 80
diff_bpmdaX/um

80 -60 -40 -20 O 20 40 G0 BO
diff_bpmdeX/um

-80 -60 40

pﬁStpan.

10000

5000

= 5000

10000

diff_bom4eY/um

10000

5000

=5000

10000

10000

5000

= 5000

10000

10000

5000

=5000

10000

pnge

diff_bpmday/um

diff_bpmdaY/um

diff_bpmdaey/um

10000

2000

=5000

10000

10000

5000

~5000

10000

10000

5000

~5000

10000

10000

S000

~5000

10000

=180 -100  -50

I I
0 50 100 150
diff_bpm12X/um

-180  -100  -50

I
50 100 150
diff_bpm1 2X/um

-180  -100 50

I
50 100 150
diff_bpm12X/um

-150 -100 =50

I
50 100 150
diff_bpm12X/um



